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And words cannot be delegated to a Shliach — n¥5wW> J70m9 KD 19919

OVERVIEW

Regarding the Xn>72 which stated that in a case where the husband said to three
people, ‘write a 3 and give it to my wife’, the rule is that they must write it [and
give it'] themselves, but they cannot appoint a m°>w. The reason for this, explained
X127, is because he only gave them words (a directive), but did not give them
anything of substance (like a v3), and a directive of words cannot be transmitted to
another m>w, but rather it must be accomplished by those who received the
directive.
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»''7 and v''7 argue later in 2pn;7 P2 in the miwn, in a case where one said to
three people, ‘give a v3 to my wife’ -
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Where »''% maintains, since he said it to three people, he made them into a 7''>3,

and they can appoint others to write the 3 and deliver it -
= 117999 1305 111D DOIYINAY NN 1T 2D 90N I1TPORT 1D YD1’ 229

And >''1 argues that even if he said 10 to the %1737 7''92 in 2°%29° (not just to

three ordinary people) they should learn and write the ©v3 and give it to her, and

they cannot appoint a n°9w, neither for the 72°n3 or the 72°n1 -
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However when he said to two people "an', or he told three people ny yan>’,

even »''" agrees that they have to write it and deliver it themselves -
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And the 71011 72°n> cannot be given over to a mYw as is evident in the wn

there -
= INYND V) 1M 12N ONIVYY 9N ININYY 29 231 YD INYY N9 MNPT R

And this which the X923 there (following the 71wn) states; ‘they sent from s'39
academy to X™»w, what would be the ruling in a case where one said to two
people, ‘write and give a v3 to my wife’ -
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' See previous omwn 117 'O

? He did not give them a 3, but rather implied that they should write the v3 and give it to his wife.

3 In the case of 2%w" X he certainly did not make them a 7", since it is only two and not three, and in the case of
111 1203 W R he also did not make them a 7"°2 since he said 1an2. See >"wA there W 71"7 where he writes; 2"¥X
7Y ROR MW 72 K 1203 179 R X707 M2 1PT N2 mwyh 1R 7w. See later footnote # 4.
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And they told a scribe and he wrote and they signed it, what is the ruling?
— “190Y95 7998 9247 NEN 1Y YV

%Y responded to them, if she remarried after receiving this v3, she should

leave her present husband, and the matter requires more study’ -
HYOYD 1901290 RD 19910 9INT YDY% 2395 NN HNNIY 9INRT XN 72999

And the X713 there asks on this ruling of X1w, from this which Y8y2w ruled that
the 11297 is like >''n who maintains mow> Jm0%" X® "%, words cannot be

delegated to a W, so why did PXmw say Tm>n 7% 727, when the ruling of YX1w in this
matter is that the 03 is invalid since T°5W% 7701 RS 91 —

mMooIN comments on the s'%7M3 question:
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The X723 could have asked that when he said to two people, even %''% agrees

that it cannot be given over to a 7%V -
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However the X3 preferred to ask a contradiction from @ on »Rmw —

mooIn offers another answer why the &7 preferred to ask 2XmwTR PRmw, rather than asking that
by 0°1w% IR everyone agrees that they must do it themselves and m°%w% 77007 X7:
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And additionally the X723 could have answered that the reason »'' is 777 by
D1 2w R, is because of Y27 1912, but not because MWL onn X -
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However Xw maintains that there is no %ya7 312 by m23°n3, however

regarding 7°nn that others should sign, there is ¥27 31712 -
- 5910 119NN XN NNDIDINT

Because there is more publicity by 72507 than by 72°n> —

4 5xmw was not certain whether the v is valid or not, therefore poon he ruled Xxn, but he was not certain.

> See text by footnote # 3.

® When they asked X what is the ruling if 1211203 223w TnK, he ruled that 7750 T 2277 X¥n indicating that it
needs to be reconsidered whether it is a valid V3 or not, however ?X1nWw also ruled that the 73377 is °"12 that XS »n
m°2wY 17011 and the v3 is invalid.

" There is no 1112 if they tell a 9910 to write a b3, for he will not publicize it.

® This means that if they would tell two other people to write and sign the 3, there will be v27 112, since the o7y
are the ones who publicize the document they signed, they will also state that they wrote it as well, so there is 7112
5927, Therefore in the case of n"7 where he told them m (3an3) they must write it and sign it themselves, for
otherwise there is 5v27 1112, However in the case of PX1Ww where SnwRY U3 1101 1202 2°3w5 X and a 790 wrote it, but
they signed it, there is no 2¥a7 112, There is no contradiction between the ruling of n"1 and the ruling of SXmnw.
There is however a contradiction from what X1 ruled that 775w X071 K7 2217 %01 "3 7997, we see therefore that
the reason is not because of Hv271 11°13, so why did PR rule that 7750 7>3% 227,
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mooIn anticipates another difficulty:
= 9990 DIVN NNYL 9207 NINT ININWTN 749929 810 NN 11919

However, the X3 could have asked from s"™Nww ruling here, where he

maintains the reason is because of 75Ww5 1701m°1 X7 Y99,
- 71039 XoN 997 PN MINT

For he says that ;7102 is like a ©3, so why does he rule there 7170 7% 927mM?!

mooIn responds:
$ONNT INMYT TIINRN 7599 933 19N RINT HNNWN N¥ANY P98 NPIY 1199 NON

However, since it would be necessary to cite from Y812 here, so he could just
as well ask from the other ruling of PX1mw, which is cited there.

SUMMARY

It is preferable to ask a contradiction from the person’s own view elsewhere. We
cannot prove that n"9 maintains w9 X10%7 R? °2°n, if we assume that there is a
greater Y277 1°12 by 7»°ni than by 72°n>.

THINKING IT OVER
Why is mpo1n here getting involved in a X3 later; he can ask his questions
there?!"

? See 9w 71"7>"wA that by saying a2 X7 > M indicates that he maintains w9 X007 K 97,
' moon actually asks them there R 71" 72.
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